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Structure Charts
-Transform Analysis (Bus)
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Structure Charts
-Transform Analysis (Subway)
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Structure Charts
-Transform Analysis (Adjustment)

List Receiver
List

Receiver

Display
List Data

-
z o LS
Sorted List 7




UnitTest
Analysis

- Bus -

Identifier

BUS.UTC. 120,000

BUS.UTC. 120,001

BUS.UTC. 120,002

BUS.UTC.120.003

BUS.UTC.120.004

BUS.UTC.120.005

BUS.UTC.120.006

BUS.UTC.120.007

BUS.UTC.131.000

BUS.UTC.131.001
BUS.UTC.131.002
BUS.UTC.131.003
BUS.UTC.131.004
BUS.UTC.131.005
BUS.UTC.131.006

BUS.UTC.131.007

BUS.UTC.211.000
BUS.UTC.211.001

Input Specification

newChinout == "OUT" && newCDiransport == "Bus” &&
CurTime - newCDiime < 200 Input

newChinout == "OUT" && newCDiransport == "Bus” &&
CurTime - newCDiime > 200 Input

newCDisensorinfo == oldCDsensorinfo & newCDinout ==
“IN" &b newCDiransport == “Bus” &b oldCDbalance -
newChbalance == 1050

newChisensorinfo == oldChsensorinfo & newClinout ==
“IN &8 newCDiransport == “Bus” &b oldCDbalance -
newCDbalance 1= 1050

newCDisensorinfo |= oldChsensorlnfo &6 newClinout ==
INT && newCDiransport == "Bus”

newCDisensorinfo == oldChsensorinfo & newClinout ==
“OUT” && newCDiransport == “Bus”

newChinout == "IN" && newCDfransport == "Metro” &8
oldCDbalance == newCDbalance

newChinout == "IN" && newCDfransport == "Metro” &8
oldCDbalance |= newCD.balance

Tag == 1 &fu jnout == “IN" &bt Tr == FALSE &b dl ==
FALSE &8 d2 == FALSE &4& d3 == FALSE Input

Tag == 1 && inout == "IN &8 Tr == TRUE Input

Tag == 1 && inout == “IN" && d1 = TRUE Input

Tag == 1 && inout == “IN" &8 d2 = TRUE Input

Tag == 1 && inout == “IN" &8 d3 = TRUE Input

Tag == 1 &8& inout == "OUT" && pTr == FALSE Input

Tag == 1 && inout == "OUT" &é& pTr == TRUE Input &&
CurTime — pTagTime < 400

Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime = 400

Tag == 1 && Balance < Fare Input

Tag == 1 B8 Balance > Fare Input

Qutput
Specification
TR = TRUE

TR = FALSE

FTR = TRUE
01 = TRUE

FTR = TRUE
b2 = TRUE

FTR = FALSE
02 = TRUE
FTR = TRUE
01 = FALSE
02 = FALSE
03 = TRUE

03 = FALSE

Fare = 1050

Fare = 0
Fare = 1250
Fare = 1650
Fare = 1750

Fare = 0

Fare = 0

Fare = 100

Balance_Lack(:;

Tag(y



UnitTest
Analysis

- Subway -

Identifier

SUB.UTC. 120,000

SUB.UTC. 120,001

SUB.UTC. 120,002

SUB.UTC. 120,003

SUBE.UTC. 120,004

SUB.UTC. 120,005

SUB.UTC. 1200006

SUB.UTC. 120,007

SUB.UTC. 131,000

SUB.UTC. 131.001
SUB.UTC.131.002
SUB.UTC.131.003
SUB.UTC. 131,004
SUB.UTC. 131.005
SUB.UTC. 131.006

SUB.UTC.131.007

SUB.UTC.211.000
SUB.UTC.211.001

Input Specification

newChinout == "0UT" && newCDiransport == "Metro” &8
CurTime - newCDitime < 200 Input

newChinout == "OUT" && newCDiransport == "Metno” &5
CurTime - newCDitime > 200 Input

newCDsensorlnfo == oldCDsensorinfo && newCDinout ==
“IN° &b newCDiransport == “Metro” & o/dCDbalance -
newCDbalance == 1050

newCDsensorlnfo == oldCDsensorinfo && newCDinout ==
“IN° &b newCDiransport == “Metro” & o/dCDbalance -
newCDbalance '= 1050

newCDsensorinfo |= oldChsensorinfo && newCDinout ==

INT & newCDiransport == “Metro”
newCDisensarinfo == aldCDsensorinfo && newCDinout ==

‘OUT" &l nEWCD.transEcurt == "Metro”

newCDinout == "IN" && newCDiransport == "BUS™ &8
oldCDbalance == newCD.balance

newCDinout == "IN" && newCDiransport == "BUS™ &
oldCDbalance |= newCDbalance

Tag == 1 &f inout == “IN" && Tr == FALSE &fi d1 ==
FALSE &8 d2 == FALSE &8 d3 == FALSE Input

Tag == 1 && inout == “IN" 8:& Tr == TRUE Input

Tag == 1 &bt inout == "IN & d1 = TRUE Input

Tag == 1 & inout == "IN && d2 = TRUE Input

Tag == 1 && jnout == “IN" && d3 = TRUE Input

Tag == 1 && inout == "OUT" && pTr == FALSE Input
Tag == 1 && inout == "OUT" & pTr == TRUE Input &.&
CurTime — pTagTime < 400

Tag == 1 && inout == "OUT" && pTr == TRUE Input &&
CurTime — pTagTime = 400

Tag == 1 && Balance < Fare Input

Tag == 1 && Balance = Fare Input

Output
Specification
TR = TRUE

TR = FALSE

FTR = TRUE
01 = TRUE

FTR = TRUE
02 = TRUE

FTR = FALSE
02 = TRUE
FTR = TRUE
O = FALSE
02 = FALSE
03 = TRUE

03 = FALSE

Fare = 1050

Fare = 0
Fare = 1250
Fare = 1650
Fare = 1750

Fare = 0

Fare = 0

Fare = 100

Balance_Lack();

Tag(y



UnitTest
Analysis

Identifier Input Specification Output
Specification
ADJLUTC.120.000.. EBuffer 1= MULL TF = MULL
ADJUTC.212.000. TF!=MULL Total_BusFare

- Adjust -



Problem & Solution
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